Kholoud Khateeb, Craig Ward

CMSI 698, Internet Technologies

Homework Assignment 2, February 28, 2003

1. N = (2N – K) / K for N ( K

2. From Comer, p. 287, substracting from each value the reserved numbers of all zeros and all ones.
a. Class A networks  :

1. 2 to the power of 7=128

128 – 2 = 126
b. Hosts per class A network:

1. 2 to the power of 24 = 16777216

16777216 – 2 = 16777214 

c. Class B networks:

1. 2 to the power of 14 = 16384

16384 – 2 = 16382 

d. Hosts per class B network:

1. 2 to the power of 16 = 65536

65536 – 2 = 65534
e. Class C networks:

1. 2 to the power of 21 = 2097152

2097152 – 2= 2097150 

f. Hosts per class C network:

1. 2 to the power of 8 = 256

256 – 2 = 254.

3.












Routing table for the host 50.11.70.15

	Base IP
	Mask
	Next Hop
	

	127.0.0.0
	255.0.0.0
	Direct
	Local

	50.11.70.15
	255.255.255.255
	Direct
	Local

	50.11.64.0
	255.255.192.0
	Direct
	Eth0

	14.5.6.128
	255.255.255.192
	50.11.61.1
	Eth0

	0.0.0.0
	0.0.0.0
	50.11.64.1
	Eth0


4.a

	Arrival Time
	Wait Time
	Reply Time
	Reply - Wait

	0
	0
	10
	10

	5
	5
	20
	15

	10
	10
	30
	20

	15
	15
	40
	25

	20
	20
	50
	30

	25
	25
	60
	35

	30
	30
	70
	40

	35
	35
	80
	45

	40
	40
	90
	50

	45
	45
	100
	55

	Totals:
	
	
	325


-The first reply will take 10 seconds to get sent back.

-The last reply will take 100 seconds to get sent back.

-The average serving time per client including the waiting time is: 325/10 = 32.5 seconds

b.

-The first reply will take 10 seconds to get sent back.

-The last reply will take 10 seconds to get sent back.

-The average serving time per client the waiting time is: 10 seconds.

5. The mask 255.255.255.254 means that the network part of the IP address is 31 bits, which leaves only one bit (32) for the host part. This way the host number will be either 0 or 1 and that is not efficient because both are reserved addresses, the network itself and broadcast respectively.

6. An IP datagram containing a TCP segment arrives at the host. If this segment completes the TCP packet, the data portion of the packet is loaded into the buffer provided by the waiting thread and the thread is signaled that the i/o operation has completed, i.e. the thread goes into the Ready Queue. If the segment does not complete the TCP packet, the protocol stack decides whether to continuing waiting or toss the arrived segments.

7. UDP does not attempt to address congestion or order of delivery. The strategy is to ignore the problem. The application using UDP must account for these issues itself.

8. Code, GenericThreadedServer.java, attached.

9. Code for modified CapitalizeServer.java attached.
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